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oices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

&)

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed
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Which symbol is used by if to enter the condition.
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Collection Variable Jar Box --—--can be thought of as a container to store
constants.
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Header file Function Library Keyword scanfis a-—- in C programming language.
30 » » . » "'L‘:‘/j}tﬂé@c/bgfvufa'wul '8
[a/ a a here ‘
Which of the following is a valid character:
P 2 - Bl 5
) Ty Ui F Uske? 294 ‘_/.'.'—--—.,GUJ"",J 9
Array Traversing Iterations Decisions Conditional logic helps in ————-—-
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